Sate Bank of India Clerk Exam.

General English : Solved Paper

Directions—(Q. 41-50) Read thefollowing passage carefully and answer the questionsgiven below it. Certain
wordsareprinted in bold to help you tolocate them while answering some of the questions.

Theyearly festival wascloseat hand. The storeroom was packed with silk fabrics. gold ornaments, clay bowlsfull
of sweet curd and plateful sof sweetmests. The ordershad been placed with shopswell in advance. The mother was
sending out giftsto everyone.

Theeldest son, agovernment servant, lived with hiswifeand children in far off lands. The second son had left home
at an early age. Asamerchant hetravelled all over theworld. The other sons had split up over petty squabbles, and
they now lived in homesof their own. Therelativeswere spread all acrosstheworld. They rarely visited. The
youngest son, |eft inthe company of aservant, was soon bored and stood at the door all day long, waitingand
watching. Hismother, thrilled and excited, |oaded the presents on trays and plates, covered themwith colourful
kerchiefs, and sent them off with maidsand servants. The neighbourslooked on.

Theday cameto an end. All the presents had been sent off.

Thechild came back into the house and dg ectedly said to hismother, “ Maa, you gave apresent to everyone, but
youdidn't givemeanything!”

Hismother laughed, “| havegivenall the giftsaway to everyone, now seewhat’sleft for you.” Shekissed himonthe
forehead.

Thechildsaidinatearful voice, “Don’t | getagift ?’
"You'll getit whenyou gofar away.”
"But when| am closetoyou, don’t | get something from your own hands?’

Hismother reached out her armsand drew himto her. “Thisisall | havein my own hands. It isthe most precious of
al”

41. Why did thewoman’ssecond sontravel ?
(A) Hewasrestlessby nature

(B) Hedid not want to stay at home

(C) Hewasrich and could afford to travel

(D) Hisjob wassuchthat hehad to travel

(E) None of these



42. Why did thewoman’'seldest son not attend thefestival ?

(A) Hewasnot on good termswith hisyoungest brother who lived at home
(B) Hehad quarrelled with hismother

(C) Hiswifedid not dlow himto return home

(D) Hisjob prevented him fromtaking leave

(E) None of these

43. How did thewoman preparefor thefestival ?

1. Shebought expensivegiftsfor her children and neighbours.

2. Sheordered her servantsto prepare sweets and food well in advance.

3. Shemade surethat her youngest child waslooked after so that hewouldn'’t be bored.
(A) None

(B)Only 1

(C)Only 2

(D) Bothland 2

(E)All 1,2and 3

44, What did the youngest child do while hismother wasbusy ?
1. Hewaited for achanceto steal some sweetmests.

2. He pestered hismother to give him apresent.

3. Hestood at the door with servants.

(A)Only 1

(B) Only 2

(C)Bothland 3

(D) Only 3

(E) None of these

45. Which of thefollowing can be said about thewoman ?

(A) Shewasawidow who had brought up her children single handedly

(B) Shewas not agood mother since her children had left homeat an early age
(C) Sheenjoyed sending her family giftsat festival time

(D) She gave expensive presentsto show that shewaswealthy

(E) Sherarely visited her grand-children becausethey dl lived abroad

46. What did the boy receivefrom hismother ?

(A) Shetaught him the value of patience

(B) Sheencouraged himto grow up and liveindependently like hisbrothers
(C) Sheshowed himtheimportance of giving expensivegifts

(D) Shegave himahugto expressher love

(E) None of these

47.Which of thefollowingis T RUE in the context of the passage ?

(A) Thewoman usually ignored her youngest son

(B) Thewoman'seldest son lived abroad

(C) Themembersof thewoman’sfamily did not care about her

(D) Thewoman madeall the preparations herself since shedid not want to burden the servants
(E) Thewoman sent giftsto her children to ensurethat they visited her



Directions—(Q. 48-49) Choosetheword which ismost nearly the SAM E in meaning astheword printed in bold
asused inthe passage.

48. L eft

(A) Gone

(B) Quit

(C©) Remaining
(D) Disappeared
(E) Forgot

49. Packed
(A)Filled

(B) Squeezed
(C) Crowd
(D) Collected

(E) Untidy

50. Choosetheword whichismost OPPOSI TE in meaning of theword dej ectedly asused in the passage.
(A) Cdmly

(B) Happily

(©Willingly

(D) Fortunately

(E) Softly

Directions—(Q. 51-55) Read each sentenceto find out whether thereisany error init. Theerror, if any, will bein
one part of the sentence. Theletter of that part isthe answer. If thereisno error, theanswer is(E). (Ignoreerrors of
punctuation, if any)

51. Many multinational companies(A) / have not been as(B) /successful in India(C) /than we expected. (D) No
error (E)

52. Hehasruined (A) /hiseyesight (B) /by not using (C) /his spectaclesregularly. (D) No error (E)

53. Mostly of the (A) /newly recruited officers (B) /have no experience (C) /in the banking sector. (D) No error (E)
54. Theresignation of (A) /oneof our directors(B) /have caused the price (C) / of sharestofall. (D) No error (E)
55. Therearemany (A) /waysof which (B) /inflation can (C) /be measured. (D) No error (E)

Dir ections—(Q. 56-60) Which of the phrases(A), (B), (C) and (D) given below should replacethe phrase given
inbold inthefollowing sentenceto makethe sentence grammatically meaningful and correct. If thesentenceis
correct asitisand ‘No correctionisrequired.” mark (E) astheanswer.

56. Each of theloan must be approved by the Branch Manager—
(A) Everyloan

(B) Each oneof theloan

(C)Any of theloan

(D) All of theloan

(E) No correctionrequired



57. Theissuewastaken befor ethe Municipa Corporation meeting last week—
(A) Taking placeat

(B) Taken after

(C) Beingtakenin

(D) Takenup at

(E) No correctionrequired

58. Hehasasked for the names of those employeesinvolved in the project.
(A) had asked

(B) having asked about

(C) was asked that

(D) isasking

(E) no correction required

59. Congder atethetraffic, it isbetter toleavefor theairport an hour early—
(A) Whileconsidering

(B) Consderation of

(C) Conddering

(D) Being considerateto

(E) Nocorrectionrequired

60. Heisagood leader, knowing that to motivate hisemployeesto achieve—
(A) That knownwhen

(B) Who knows how

(C) Which knowshow

(D) Knowingwhat

(E) No correctionrequired

Directions—(Q. 61-65) Rearrangethefollowing six sentences (1), (2), (3), (4), (5) and (6) in the proper
sequenceto form ameaningful paragraph; then answer the questions given below them.

(2) The ablebodied men of thetribe gathered to discuss how to climb the mountain.

(2) Aspart of their plundering they kidnapped ababy of oneof thefamilies.

(3) Oneday themountain tribeinvaded thoselivinginthevalley.

(4) “We couldn’t climb the mountain. How could you?’, they asked, “It wasn’t your baby ! shereplied.

(5) Thereweretwo tribesintheAndes—onelivedin thevalley and the other high up inthe mountains.

(6) Two dayslater they noticed the child’ s mother coming down the mountain that they hadn’t yet figured out how to
dimb.

61. Which of thefollowing should bethe SECOND sentence after rearrangement ?
A) @)
B) (2
© e
(DIC)
B



62. Which of thefollowing should bethe FIFTH sentence after rearrangement ?
(A)(6)
(B)(5)
(©) (4)
(D) (3)
B @

63. Which of thefollowing should bethe FIRST sentence after rearrangement ?
(A) (D)
B) (2
© e
(DIC)
B

64. Which of thefollowing should bethe SIXTH (L AST) sentence after rearrangement ?
(A) (D)
B)©3
© e
D)@
B

65. Which of thefollowing should bethe THIRD sentenceafter rearrangement ?
(A) (D)
B)©3
(O1€)
D)@
B O

Directions—(Q. 66—70) In each question bel ow asentence with four words printedinbold typeisgiven. These
arelettered (A), (B), (C) and (D). Oneof thesefour words printed in bold may be either wrongly spelt or
inappropriateinthe context of the sentence. Find out theword, which iswrongly spelt or inappropriate, if any. The
letter of that word isyour answer. If all thewords printed in bold are correctly spelt and also appropriateinthe
context of the sentencemark (E) i.e., al correct asyour answer.

66. Theincome (A) of many peopleinrural (B) Indiaisnot adequate (C) to satisfy (D) their basic needs. All
correct (E)

67. Heisalways(A) prompt (B) incaring (C) outinstructions. (D) All correct (E)
68. Therevized (A) rates(B) of interest will be effective (C) immediately. (D) All correct (E)
69. Suchtransactions(A) arequiet (B) expensive (C) and time consuming (D) for customers. All correct (E)

70. Theguidelines(A) of the new scheme (B) areexpected (C) to befinally (D) soon. All correct (E)



Directions—(Q. 71-80) Inthefollowing passage there are blanks each of which hasbeen numbered. These
numbersare printed bel ow the passage and against each fivewords/ phrasesare suggested one of whichfitsthe
blank appropriately. Find out the appropriate word in each case.

| usedtolook ...(71)... totheholidays. | wasusudly ...(72)... tomy uncle'shousewherel ...(73)... hischildren.
| did not get paid asalary for ...(74)... What | receivedin return however, wasfar more....(75)... My unclewas
anavid reader. During thetimel spent with hisfamily | hadan ...(76)... to read the vast amount of booksand
magazinesthat he possessed. Thisimproved my Englishtosome...(77)... Reading becamemy new ...(78-79)...
spending my pocket money on aticket to the cinemal beganto ...(80)... books. Thishasbenefited megreatly.

71. (A) forward
(B) towards
(C) backward
(D)up

(E) around

72.(A) went
(B) sent
(C)visted
(D) travelled
(E) gone

73.(A) cared
(B) occupy
(C) guarded
(D) taught

(B) played

74. (A) them
(B) whom
(C)this

(D) now

(E) which

75. (A) expensive
(B) desarving

(©) hdping

(D) demanding
(E) vduable

76. (A) opportunity
(B) dbility

(C)use

(D) encouragement
(E) achievement



77.(A) distance
(B) extent

(© time

(D) limits

(E) degrees

78. (A) activity
(B) hope

(C) hobby

(D) duty

(E) worship

79. (A) despite
(B) though

(C) by

(D) instead of
(E)while

80. (A) I
(B) read

(C) exchange
(D) invest

(E) buy

Answers:

41. (D) 42. (E) 43. (A) 44. (D)

45. (C) 46. (D) 47.(B)

48. (C) 49. (A) 50. (C)

51. (D) Replace‘than’ with*as'.
52.(E)

53.(A) Change‘Mostly’ to‘Most’.
54. (C) Change‘have' to‘has'.

55. (B) Replace‘ of with‘in’.

56. (A) 57. (D) 58. (E) 59. (C) 60. (B)
61. (C) 62. (A) 63. (E) 64. (D) 65. (B)
66. (E) 67. (C) 68. (A) 69. (E) 70. (D)
71.(A) 72.(B) 73. (D) 74. (C) 75. (E)
76.(A) 77.(B) 78.(C) 79. (D) 80. (E)



